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if (rule2) {
ApplyRule2 ();

}

//)L—IL3DEH

if (rule3) {
ApplyRule3 ();

}
ApplyRules()

BoidRuleManager rule;

rule.SetBoid(thi
rule.ApplyRule();

Update()
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void SetVelocity(Vector3 v)
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Vector3 ipos = boid[i].pos; | ineighbor_space& 3 %.

float ineighbor_space = boid[i].neighbor_space;

for(int j=0; j<pop;j++){ jBEEORA KDL
BZjpos& 9 3.
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float dis = Vector3.Distance(ipos,jpos); | BE#%= dis&93.
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void ApplyRule3()

for(int 1=0;i<pop;i++ | HE DORA ROAIE - RE - R
Zipos, ivel, ivision_space & 9 5.

Vector3 ipos = boid[i].pos;
Vector3 ivel = boid[i].vel;
float ivision_space = boid[i].vision_space;

float count = 0@; _ I TN
Vector3 velSum = Vector3.zero;
velSum: *EE%W/—I_\{ I\ O)l_gﬁlb\—ﬂ]
for(int j=0;j<pop;j++)@
Vector3 jpos = boid[jl.pos; | j&EE DNA KDAIE
Vector3 jvel = boid[j]l.vel; | Zjpos& 9 5.

float d = Vector3.Distance(ipos,jpos);
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_ count, velSumic Xt 9
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if(count>0){

boid[i].SetVelocity (N
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